
 

 Quick Test 7 (Secondary 1 Standard) 

 The test has to be completed in 30 minutes. 

 The questions follow the latest Syllabuses for Secondary Schools Mathematics  

(Secondary 1 – 5) from the Hong Kong Curriculum Development Council. 

Answers (Free detailed solutions can be obtained in our centers) 

1) – 45   2) 40   3) $486.4   4) 21 + 3n   5) 6x3 – 11x2 +14x – 5   6)
 7

24
   

7) 5250 m3   8) 312°      9) 32°   10) x = 101°, y = 54° 

Number of correct questions Comment 

0~4 Below average 

5~6 Unstable 

7~8 Standard 

9~10 Distinction 

“Quick Test” is only a preliminary assessment. MATHCONCEPT Diagnostic Test (MDT) is designed 

to determine precisely the math level of the student and analyze their strength and weakness on different 

math topics. You are welcomed to make appointment for assessment in any of our MathConcept center. 

MATHCONCEPT Diagnostic Test (MDT) 
“MATHCONCEPT Diagnostic Test” consists of two parts and the whole test requires around 60 to 90 

minutes to complete. The first part is a written test that designed to evaluate the student's strength and 

weakness with respect to grade-level material. The second part of the assessment is a series of oral 

questions that designed to evaluate student's understanding of key math concepts and skills. After the 

student has completed the assessment, our qualified MATHCONCEPT tutor will then explain thoroughly 

about the test result to the parents, generate a tailor-made learning plan and give out the curriculum 

materials that cater to the unique needs of each student. 
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Quick Test 7 
 

1)  – 32 – (– 6) 2 = _______          

 

2)  Use clustered values to estimate 9.78 + 10.21 + 10.04 + 9.92. 

 

3)  The marked price of a pair of trousers is $ 320 and now there is a discount of 20%. 

There is an extra discount of 5% for buying 2 pairs of trousers. How much should be 

paid for buying 2 pairs of trousers?       

 

4)  There are 24 seats in the first row. The number of seats in every following row is 3 more 

than the previous one. How many seats are there in the nth row? 

 

5)  Expand (3x2 – 4x + 5)(2x – 1). 

 

6)  Solve
2

45

3

64 


 xx
. 

 

7)  Find the volume of water in the swimming pool below. 

 

 

8)  If the second hand of a clock moves 52 seconds, how many degrees does it rotate? 

 

9)  Given that △ AOB ≅ △ COD, find ∠AOC. 

 

      

 

 

 
 

10) In the figure, l1 // l2, find x and y. 
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